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Be sure to set up each problem before evaluation. Show all work in the space provided for full credit.

1. Graph the following parabola. Label at least three points. Give the vertex, domain, and range. (16 points)
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2. Arocket is fired upward. After x hour, the height of the rocket is given by f(x) = —4x* +16x. Find the

time required in hours for the rocket to reach maximum height, and find the maximum height in kilometers. | — O
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3. Graph each parabola. Plot at least two pomts m addition to the vertex. lee the vertex, domain, and range.
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4. Use the square root property to solve the following equation and give the solution set. (12 points)
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5. Solve the following equation by completing the square and give the solution set. (16 points)
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6. Solve the following equation using the quadratic formula and give the solution set. (14 points)
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7. Use the discriminant to predict whether the solutions to each equation are
A. one real solution; B. two real solutions; C.two complex solutions
a) -2x>+6x+3=0 ﬁg;& (8 points) b) x*-x+10=0 4= \‘ (8 points)
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